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Part A

Answer any ten questions.

Each question carries 2 marks.
 

4.  

5.  

6.  

7.   Find    (x2+3ex+4logx)

8.   Find   ( )

9.   Find 

10.   Evaluate  dx

11.  

12.  

Part B

Answer any six questions.

Each question carries 5 marks.

⎡

⎣
⎢
2
4
2

3
5
1

1
4
2

⎤

⎦
⎥

1.  Define a Diagonal Matrix.
2.     Find the determinant value of A =

3.  Define an Inverse of a matrix .

Find the magnitude of the vector 4i+6j-k.

Prove that the two vectors a=5i+0j-5k and b=5i+0j+5k are orthogona.l

Define then condition for two vectors are to be parallel , give an example.

Find the slope of a line passing through ( x1 ,y1 )  and ( x2 , y2). 

Find the point of intersection of the lines 3x + 2y -4 = 0 and x + y -3 = 0.

(10×2=20)
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13.   Solve the system of equations using matrix inversion metod.
2x + y  = 3
  x  - y  = 0

14.  
Find the rank of a matrix 

15.  
1. Define unit vector. Give an eample.
2. Define null vector.

16.   Give the condition for two vectors to be perpendicular and check whether the vectors    3i-
j-k and 5i+5j-5k are perpendicular or not.

17.   Find 

18.   Given R=3000-(3-x)2. When is R maximum? What is maximum value of R

19.   The demand function of a monopolist is P=15-2x and the cost function is C(x)=x2+2x. Find
the  (1) Marginal cost     (2) marginal revenue    (3) average cost                               (4)
average cost when the output is 4 units

20.   Cost function is given by . Define marginal cost and average cost.

21.   Find the intercept on the y axis made by the line joining points (-3,5) and (3,9) 

(6×5=30)

Part C

Answer any two questions.

Each question carries 15 marks.
 

22.  
If A =      B =     C =   Prove that A ( B +

C ) = AB +AC 

23.   (i) Find the value of 

      

(ii) Evaluate 

24.   Evaluate  (i)  

                (ii)  

25.   Find the area of a Quadrilateral formed by the points (-2,3) , ( 1,0) , (1,5) , ( 2,4) 

(2×15=30)
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limx→3
−27x3

−9x2

C = a + bx + cx2
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